INVENTORY ACOUNTING
Cost of Sales = Beginning Inventory + Purchases – Ending Inventory - Employees' Meals

1. Perpetual inventory system requires that the receipts and issues of each inventory item be recorded on a separate inventory record. This is money and time consuming especially for low value items and for frequently used items.

2. Periodic inventory system: Under this very system, items are only calculated at the end of a certain period in order to come up with ending inventory and hence cost of sales

( In Turkey, most hospitality companies use the periodic inventory system. Therefore, only this very system will be stressed.

I- Approaches to Inventory Valuation:

Jamel Holiday Village started business on April 1st, 2003. Following are the purchases of a certain commodity to the storeroom, and the issuing from the storeroom to production (all for the month of April 2003):

	Date:
	Inventory Transaction:

	01/04/03
	Purchased 15 units @ $ 2.00 per unit

	02/04/03
	Purchased 10 units @ $ 2.05 per unit

	03/04/03
	Purchased 8 units @ $ 2.10 per unit

	06/04/03
	Issued 10 units

	10/04/03
	Issued 7 units


1. The specific identification approach to inventory valuation:

( All goods in inventory must be identified by their actual purchase cost. Later just multiply each of the 17 issued units by their respective identified costs to come up with the cost of units.

2. The FIFO (First In, First Out) approach to inventory valuation:

( On 06/04/03, the storeroom issued 10 units. These 10 units must have a cost of $ 2.00 per unit, hence costing a total of $ 20.00. On 10/04/03, the storeroom issued 7 units: 5 of them cost $ 2.00 per unit, and the remaining 2 cost $ 2.05 per unit, hence a total cost of $ 14.10. Therefore, the total cost of items issued (in this example) is $ 20.00 + $ 14.10 = $ 34.10. Bearing in mind that the total purchases amount $ 67.3; the ending inventory should equal $ 33.2.

3. The LIFO (Last In, First Out) approach to inventory valuation:

( On 06/04/03, the storeroom issued 10 units: 8 of these units must have a cost of $ 2.10 per unit, and the other 2, $ 2.05 per unit, hence costing a total of $ 20.90. On 10/04/03, the storeroom issued 7 units, all of them priced at $ 2.05 per unit, hence a total cost of $ 14.35. Therefore, the total cost of items issued (in this example) is $ 20.90 + $ 14.35 = $ 35.25.Bearing in Mind, that the total purchases amount $ 67.3; the ending inventory should equal $ 32.05.

4.  The weighed average approach to inventory valuation:

( On the period running from 01/12/99 to 10/12/99, the storeroom purchased 33 units costing $ 67.3. Hence the average cost per unit is $ 67.3 / 33 = $ 2.0393. Therefore, the cost of goods sold (i.e. 17 Units) shall have a cost of $ 34.67. Moreover, the ending inventory (i.e. 16 Units) should have a cost of 16 * 2.0393 = $ 32.63.

5. A comparison of cost allocation methods:

	Cost Allocation Method
	Ending Inventory

	FIFO
	$33.20

	LIFO
	32.05

	Weighed Average
	32.63


	Cost Allocation Method
	Cost of Sales

	FIFO
	$34.10

	LIFO
	35.25

	Weighed Average
	34.67


( The very comparison results can be misleading in the fact that people might think that FIFO (for example) yields always to the highest Ending Inventory, and hence, the lowest Cost of Goods Sold. This approach is wrong! In fact the very example has an underlying assumption, which is “Inflationary Condition” Had this condition not be true for this example, all the above results might be reversed! 

( Companies my chose any Inventory valuation method they desire. However, once chosen companies must continue with the same Inventory method for that particular Inventory Item ( Consistency Principle!

